Multiplication by Linear FeedForward Shift Registers
(x*+3x+2)(x+4) over GF(5)

(x2+3x+2)(x+4):x3+3x2+2x+4x2+2x+3:x3+2x2+4x+3
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Operation LFFSR

(x*+3x+2)(x+4) over GF(5)

(x2+3x+2)(x+4):x3+3x2+2x+4x2+2x+3:x3+2x2+4x+3
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Final result of multiplication

(x2+3x+2)(x+4):x3+3x2+2x+4x2+2x+3:x3+2x2+4x+3

132 X°+3x+2
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Division by Linear Feedback Shift Registers
(x3+4x+4):(x2+2x+3) =X+3 over GF(5)

1-a,=1-3=-2=3,a=-2=3,a,=-1=4
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(x3+4x+4):(x2+2x+3) =X+3 over GF(5)

1-a,=1-3=-2=3,a=-2=3,a,=-1=4
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4+4+3c =c, —>2¢,=-3—>¢ =(2) 2=3*2=1




(x3+4x+4):(x2+2x+3) =X+3 over GF(5)

1-a,=1-3=-2=3,a=-2=3,a,=-1=4
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2+3+3c =C, >2¢,=0->C,=(2) 0=3*0=0




(x3+4x+4):(x2+2x+3) =X+3 over GF(5)

1-a,=1-3=-2=3,a=-2=3,a,=-1=4
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Final result of division
(x3+4x+4):(x2+2x+3) =x+3 over GF(5)

1-a,=1-3=-2=3,a=-2=3,a,=-1=4
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